PrSS’l Nmzn']: #\
Qpp(,czo_' MATH. for‘
ZCSCLTFONICS EN mizm
290~ 943 -

So LUTIONS

SecTioN 1LY

#20 _E__>2-0 - F*° # 22 (i>27 ) i
't _LZO n_’3 rLg

i

3 “(-C“'YL':“(."CH)H (C) D

L?.o

438 KX _TL

(7Y xe | X

| ~1

tao Gt 3 T

3t 34" I
4 3

H (-0’8)” = ax (- )

o) 2% 6 = #28 ~W °=

l

WS



@
SeCcTiON 1.6
#5 @i = (9 #u (V5) = g
RS AP - - e

9 ~g53 =[3)

# 1 Joos =[0:3) el CUE?>H:@

#1335 =(5) 23 oo
$15 3 -G = Jueo 3
2le . S Uuso vE
¥25 505
= 2\}t-|-2.]
:Zd—q'd_z',
= HVJz]
i 23 ’
8o _ | 8o ;-,]
33 Vg TV
=5 g
‘ =2\I§-
#29 3 *
g2 31 7% J3 #33 T o
e > o
_ = (oo =
D i
¥ #35 U3z 92
- 3] = Jgo = J9-10
= 03 Ui



SSCT;OTU i

3
#10

%_Zy+3)c_y+z

#30 3 ('3" (a—q))

-3 (‘"3-—cx+'-{)
#20  (e-yd=(-2x-4y) "3 (1-2)
= Yy -—T +Zx+q], @

#372 ‘“2-{-3L7C“'ZT) -|-|_,7J
#28 - C(Q-B)—(g_‘qﬂ |

" " (e-e-mth] T 72 [Faerey vy
C (ZQ’ZBJ i mZ (-2x +oy]
- k—zﬂ-l—zgj = [ex -20y]

10 - {- [-Cv-za)*b]-—my}
T {— [-x+za -b] ,Qﬂg
- {Y-zm+b~a+x}
- - 22-54-30;?};}

- E?.x +3a. ~b|




©

seclion, 1.8

¥ 10 (oPCBB (BP%Z)?— #16 o' bec (zoc- 3526)
= bpg’ Py =|2atbe’ -3 02 |

2
5 2.(’)4-\'9)
:ﬂ'—3| C%—ZJ“HBCX“ZI"'LD o =2 (x"+|é;7(,-l~6‘f>

= Xt-2ey pe -2y +Hy -8 = {5 /7. |
“/%L/&g-lé J [2+320t 28]

= [’)?'—H xy My - léj

+ 43 (2420 (3-20(x1)
= (6 +x—xz>(%-!>
S

SéeeTion 1.9

#12 oL, m w2l Lo 2b
3a, 300

+
#22 | X+ 200 4 24 ]’ 3 — _l__]

)




9,

SeCfion. [.10

3t=-3 2y = -§ 2y - —
(£=-3) J X =3

6-(r-y)=2r 423 2(x-3)=-X
6*r+'-f=2r"

#19 2(s-4) =8 % z
28-8 =8

2X -6 = -y
S =28 10 = 3r 3)(:6

‘r:,%? X:::?..

¥25 0.]x - 05(x-2)=2

X x
O.lx ~o05x+ | =2 2 %
~0.4x = | X= 34
X/:‘.__!__ (O
-0.4
xXx=1%
:
#3838 3 - R
+ 4z
126 - R
q.




Section 11.2

#39 32b%)Y*  #uo (%““'cl)%

-_-. _ 8% Eg/act'/s

- (%
2\ % Iz
4| Q(o o b b
¥
= Y AR -7
= 16 ol b :H:EIZ_ @ZCSD‘*) 5
= l
-7 - l
6% o b - A
_ [-—l BZySC. .D.%_
80_359/9 = |
qcrD®
o 74 y
43 (--—-.;7 # 4y L #Hus L (94T 8%
- o 1) i
= a‘s/‘i <W> = Y y
— s % 2 (4D
ot gy
- ok o5 b =T 4y
% ° beba’ Qe
%z '7"___57@ \ X
|_1 7.00 1z .
- A2
- O' - b"/so
Y




Chcup{'m O Review

#14 I-28y 418 900 nt— P
= [Fx-4y) = n* (900-1)

-"]ILT( 30-n*)(30 mzﬂ

#28 3INT_-3z3y7+30
= I (NY -1INZFH 10
= 3 (10N
= 3(N7-_|03(!\I+DCN"’>

272  HX*-12e +9
= Yy -eu-6x 19
= 2x(2x-3)-3(2¢73

- l@)é-S) (zx—sz}

h3p 23F3>+21F —HEF
= 3F(qF"’-HF—l@
= 3F (9F1¢3F+16F—16>

30 SxF4+2x-3

Sy 45 -3¢-3
By (D) —30c+

n

= Lx—HB(Sx—@ :BFEQFLF—-\\ er(o(i-b]
-—"\;:FTE-D(%%Q]
# 33 3o ree #40  R3— 12507
= Ja(a’+®) :\@_5rﬁ(R’—+5Rr+25ri)]

:\g(l ( Q+236QZ—ZQ+L1




Chaplon 7 Review

#26 3+ ) =0 H 32 qu’sf -8=0
= - 't L‘B- —
x=-2 \z 2 Y= 5+ ED 4R
2.(4)
2 = 5+ 153
EC, =-2.672 X, = —0.392] Q
ﬁ:z.\q \(7_=-0-92]
#2393 3]'_')2' = 29"5/'3

3P1+5P— 29 = O

BP-L-I- IZP—:}P_ZS =0
3]: (P+L-I\—?(]>+L-D=O

(P+'—l\ CBP-—?B: @)

P e
30

n-2 = en"
on*—n+2 =0

4

= 1T JI-46He)
206)

+# 34 lor* = 8Qr - |
lorz- +1 =0
lor“-Yr -dr+| =0
Ylgr -1) = -1) = O

C‘-\r-—l}("lr—l =Q




= O t{:—l
(x,y) = o,-1)

-y y*-| =0
L‘)(,z-\—l =0
L‘l")(,-z': -
X= Uy

No | NTNCEpTS

Two OTHER PO"M.\-S
X = | y = . )
)(. = - j — ._5

> X

Y -inTencepts

(o,~1)



#'—«l& Y:

vertsx  x= -b

2x+ 8¢ —10
= '—'_8_ )
2a, 20

= 2tD+8eD -0

\f" nTenc ipT .

2{4) =16 -10

O = 2xX*+&x —10

= ’2(_>£2'+'-'.x_~5)
= 2 (s 0e-1)
Xz~ 5 x= |

inTAnCECpTS !

(q,-10)

(-5,0) 2(1,0)




CHapTteouv 5 Review @

#ZZ 2'7'_? =7 @ i+ 2Y4 r—-38-2 @

x+y =2 @ —2r-9s=2 @
Y= 243 @ .
Sue iN SUR @ Lro @
Kt+2x~-3 =2 -2(-3¢-2)-98 =2
Bifg 6S+4 -9s =2
-Bg = -2
SUB ir\J@ :f:'z—)t'q' S=2_/5
Yy =2(3)-3 Sub 'm@
= -~ = -—3(?/3)—2
=3, y=-| = -2-2 =Y
rr':'—‘-f J Szzgl
:H:SO %+Zj+2=2@
3¢ —6y+22=2(B)
2x-2=38 (9 5 Solve sysTemw
2@ AN
£z 2x-8 J
SuB in @ 1SolaTe Y m.-@
=10-3
x+zy+2x-8='2 2y _'2_3/%%
- 2z
3>¢+‘2_y =0 J

SuB im@
Sog in

Fx -6 (5-3x) =R
3’4"6y+7-c"->“83=?— +x -30 +9%x =\

— - |8 | o = Y4¢§
o=t ® TR



¥4 [ +atiz=0 @
5.2 L —3255,,_:133

3250, —2.62i5 = -3.35 (C)

1SolaTe L, in
52¢, = |.88 4+ 3.25 (o
L= 0.236 + 0.625 L,

Svd n @

Sue in, @
1.625 Lz + Lg, =-0.36 NOTH.'\Nj To Sub ‘

isolate (3 iw@
) . - —s SUB n O
3261, - 2.62(-0.367} 625"?)“;3'
3.5035 L= ~4.2932

| & =-057)

3 = -0.36 - 1-625(’0-57>

BEEEy
(L = 0




# 39

Ler ¢ = Type I oRrRe
(e cOpp%)

J = Type T ore
2.4/ copP-%>
Y+ Y =42 ®
0.06%, +o.o7,qj =2 ®
1ISaolpte ¥ in@ & SuB im‘o
©.06(H2-Y) + Q-02ZHYy =2
2.52 -0.06 + 0.024y = 2
“0.03@: -0.62

J = '4.4Y Tonnes

X = 29.56 Tonres

# 36 Ler =«

= Fostmix | (27 0iL, 98%3’*3)
Y= Fustmix I (87aiL, 927 g4c)

xX+Yy= 16 @
c.02x + 0.08y = 0.04(10

)6

ISolAaTe % i ®) 3 Sud iNTO@
9.02C10-Y) to.08y =aY

0.2 - 0.o2y -ro-ogj =04

0.06:{ = 0.2.

y = 3.33L
X = 6.63FL




Jbecté,om .12

Hiy

LeT X

Y= ‘k’,+2.0000@
3x = Gy
SuB ® i.hu

gy = e(z.+zolooo>
L = 6y + 126 000
Z¥ = 1206 0oco

b4 60 000

{1

wzil-(lr Amount ULSed in Qwsﬂ{f
Y = weelly Amoont 0304 In 6 we kS

TovAL AmountT in & weelle - 9 ¢oooo =M

# 12 x = len 9Th oF mailn, p ipzline
Y = Linghu oF Sang ] pipclines
X+ 2.6 = )’ @
x+3y = 354 @
Sue @ into ®

x +3(x+2.6) = 354

yxX + 2.§ = 3S.Y4

¥ =236
X = 63

EM:\ pipe line &9 Ko, Samall pipelines J.s KWJ




#249 pone in clase
(See mmoTL

/f .
(25 minoken ot AerE]

# 28 pone (n clace (see 'thQAJ

—————

lGL most be Adcb&_)}




